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Chapter -18 
Secularism
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Main Points :-

•	 What is Secularism

•	 Inter Religions Domination

•	 Intra Religions Domination

•	 Secular State

•	 The Western Model of Secularism

•	 The Indian Model of Secularism

•	 Right to Religious Freedom

•	 Criticism of Indian Secularism

Secularism means:-

•	 Freedom to all people to follow and propagate their religion without any 
discrimination, that is, when the state does not discriminate about religion. 
It is called a secular state diversities.

•	 India is a country of various the task of providing equal opportunities to 
all to maintain democracy is difficult. Hence, with the 42nd amendment to 
the Indian Constitution, the term secularism was added. The Declaration 
of the constitution declares to oppose hegemony, to oppose the domination 
of religion and to promote equality between and among different religions, 
etc.

Supremacy among religions:-

•	 Every Indian citizen has the right to live with freedom and dignity in any 
part of the country, yet many examples of discrimination are prevalent, in 
which the domination among religions is bigger because we consider our 
own religion superior and other’s inferior.

Domination inside Religion:-

There are differences and hierarchy within the religions which be comes a 
reason of religious disputes.
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Secular State:-

•	 A State where no religion has been given official (legal) recognition by 
the government.

•	 Importance to the concept of equality of all religions.
•	 Stopping the domination of the religious group.
•	 There should be a clear distinction between religious institutions and 

institutions of state, Then only peace, freedom and equality will be 
established.

•	 Avoiding any kind of religious association.
•	 In such symptoms, one should be committed to such principles and 

aims which give importance to freedom from religious oppression, 
discrimination and taboo, along with establishing peace and religious 
freedom.

The Western Model of Secularism: -

•	 American Model of Religion and the separation of state power is 
considered as mutual prohibition. Religion does not interfere in matters 
of state power.

•	 This concept describes freedom and equality in an individualistic manner.

•	 There is no space for pro-state religious reforms in secularism.

The Indian Model of Secularism:-

•	 The Indian secularism does not merely emphasize the separation between 
religion and state.

•	 Gives freedom to minority and all persons to adopt religion.

•	 In Indian constitution, minorities have the right to find their own problems 
and can also get help through state power.

•	 After the 42nd Amendment 1976 in the Preamble of the Indian Constitution, 
the word ‘secular’ was added.

•	 Among the fundamental rights, the right to religious freedom, the right to 
equality and the right to education and culture provides equal opportunities 
to all religions.
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Right to Religious Freedom:-

Articles 25 to Article 28

Article 25 	 •  Every person living in India can follow any religion.

		  •  Can believe in any religion

		  •  Can promote own religion

Article 26 	 •  Freedom to manage religious affairs is provided

Article 27 	 •  No person will be forced to pay any tax which is useful for 	
		      the promotion of any religion.

Article 28 	 •  Religious education has been banned in government 		
		      educational institutions.

Criticisms of Indian Secularism:-

•	 According to the opponents, secularism is anti-religion and poses a threat 
to religious identity.

•	 Imported from the west.

•	 Advocates for minority rights. Accusations of minorityism are made.

•	 Promotes vote bank politics.

•	 Extremely interventionist because Indian secularism allows state backed 
religious reform.

Impossible Project:-

•	 The policy of secularism wants to do a lot but this project is far from the 
truth which is impossible.

•	 Despite many criticisms, India’s secularism represents a reflection of the 
future world. Great experiments are being done in India been watched 
over by the world. Some countries of Europe, America and Middle East 
have started to look like India due to the diversity of religious culture.
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QUESTIONNAIRE

One Mark Questions

1. 	 What is Secularism?
2. 	 What is a secular state?
3. 	 Is India a secular state?
4. 	 What does “Ataturk” mean?
5. 	 What was the new name of “Mustafa Kamal Pasha”?
6. 	 When was the term secular (Panth Nirpeksh) added to the Indian 

Constitution?
7. 	 Under which articles religious freedom is given in Indian constitution?
8.	 Write a feature of the secular state.
9. 	 What does “communalism” mean? 10. What is the danger of communalism 

to Indian democracy?

11. 	What type of state is India?
(a) Hindu state			   (b) Muslim state
(c) Christian State		  (d) Secular State.

12. 	The specialty of a secular state is -
(a) The state has no religion	 (b) Religious freedom 
(c) Equality in all religions	 (d) All of the above.

13. 	In independent India “equal protection by the state to all religions”. 
	 whoes statement is this?

(a) Mahatma Gandhi		  (b) Dr. BR Ambedkar
(c) Jawaharlal Nehru		  (d) Netaji Subhash Chandra Bose

14. 	Which of the following is a reason for criticism of Indian secularism-

(a) 	 The state has no religion of its own.
(b) 	 Religious freedom is described in the constitution.
(c) 	 Advocates for the rights of minorities.
(d) 	 Indian state opposes religious atrocities.
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15.	 Which of the following is an obstacle in the path of secularism?
(a) Anarchist elements
(b) Communalism
(c) Religious hatred
(d) All of the above

16. 	Correct and rewrite the underline in the following statement. 
	 “Right to religious freedom belongs to Part Four underline of the Indian 

Constitution”. 

(Paragraph/Map / Cartoon based Question)

17. 	Read the following passage carefully and answer the following questions.
	 Jawaharlal Nehru himself did not follow any religion. He did not believe 

in God. But for him, secularism did not mean rancor towards religion. 
In this sense Nehru was quite different from Ataturk of Turkey. between 
& religion and state. He was also not in favor of severing ties according 
to his view, secular state power can interfere in the matter of religion for 
the improvement of society. To enact laws for the elimination of caste 
discrimination, dowry and sati. Nehru himself played an important role 
in providing legal rights and social freedom to women.

(i) 	 What does secularism mean by Nehru?
(a) 	 The state will have its own special religion. 
(b) 	 All religions will have equal protection by the state.
(c) 	 The state will make laws for religion.
(d) 	 None of the above.

(ii) 	Which religion did Nehru follow?
(a) 	 Hinduism.
(b) 	 Buddhism. 
(c) 	 Christianity.
(d) 	 Jawaharlal Nehru did not follow any religion himself

(iii) 	Nehru was related to Ataturk of Turkey: -
(a) 	 was a follower of Ataturk
(b) 	 was an associate of Ataturk
(c) 	 had different views than Ataturk’s views 
(d) 	 was classmate of Ataturk.
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(iv) What were Nehru’s views on the relationship between religion and 
the state-
(a) 	 Nehru ji was in favor of severing complete relation between 

religion and state.
(b) 	 Nehru ji was not in favor of severing complete relation between 

religion and state.
(c) 	 Nehru saw religion and state from two different perspectives.
(d) 	 None of the above

Fill in the blanks:-
18. 	A secular state is called that which is not based on .......................... .

19. 	All people in a secular state receive.......................... of Religion.

20. 	According to Article .......................... of the Indian Constitution, all 
citizens are free to follow any religion.

21. 	In 1976, by .................... amendment India was declared as a secular 
state in clear terms by adding the word secular in to the Preamble of the 
Constitution.

22. 	Jawahar Lal Nehru was the .......................... of Indian secularism.

23. 	Write true or false in front of each of the following statements – 
(a) 	 India is a theocratic state.
(b) 	 Pakistan is a theocratic religion.
(c) 	 Different behavior is done in India with different castes and classes.
(d) 	 In 1928, the new Turkish alphabet was adopted in modified Latin 

form.
(e) 	 Communalism impedes the development of the society.

24.	 Which articles of the Indian Constitution provide religious freedom to 
the Indian citizens? 
(a) 29 to 38 			   (c) 19 to 22
(b) 25 to 28 			   (d) 14 to 18



XI - Political Science 282

25. 	What does a secular state mean?
(a) A state which is not based on religion. 
(b) A state which is based on a religion. 
(c) state which is based on the seligion of majority.
(d) None of the above.

26. 	By which Constitutional amendment the word “secular” was added in the 
Indian Constitution?
(a) 44th			   (b) 46th
(c) 42nd			   (d) 52nd

27. 	Assection: Article 25 says that all have a right to Practice and promote 
any religious belief.

	 Reason: state Can not control or ban economic financial, Political or any 
other religion effected of secular activity.
A) 	 Both are correct and the reason, is the Correct explanation of the 

assertion.
B) 	 Both are correct but the reason is not the Correct explanation of 

assestion.
C) 	 Assertion is right but reason is wrong.
D) 	 Assertion is wrong but reason is right.

Two Marks Questions (Answer in 50-60 words)

1. 	 What does the word ‘Dharma’ mean?
2. 	 Give two ways to maintain secularism.
3. 	 What is the specialty of the Indian secularism?
4. 	 What do you understand by the theoretical distance of the state from the 

religion?
5. 	 Write any two shortcomings of secularism.
6. 	 How did Turkey adopt secularism in the twentieth century?
7. 	 Explain the meaning of inter religious domination.
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8. 	 What is the basic mantra of western secularism? How is this an example 
of domination?

9. 	 Is secularism allowed for a minority community to make its own 
educational institution? Give reasons.

Four Marks Questions
1. 	 What is the difference between Indian concept of secularism and Western 

concept?
2. 	 What is the meaning of communalism? What are the ways to prevent 

this?
3. 	 What are the reason for adopting secularism in India?
4. 	 Why is the secular state criticized?

Paragraph/ Map/ Cartoon Based Question
Study the give picture carefully and answer the following question.

1.1	 What did the French government ban on educational institutions?
(a) 	 Ban on wearing kurta pajama in educational institutions
(b) 	 People wearing red clothes in educational institutions
(c) 	 Ban on wearing turban, wearing burqa, religious symbols.
(d) 	 Rock on wearing caps in educational institutions
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1.2 	Is France a secular state?
(a) France is the Indian model of secularism.
(b) France is the European (WesteRn) model of secularism.
(c) France is the African model of secularism.
(d) France is the Asian model of secularism.

1.3	 What is the difference between France and India in the idea of secularism?
(a) 	 In France there is freedom to wear all religious symbols while in 

India it is not.
(b) 	 Religious education is given in educational institutions of France 

while not in India
(c) 	 France bans symbols of religion while India does not.
(d) 	 France is a religious (Christian) country while India is secular.

1.4 	Which religious educational institutions are supported by the state power 
in Indian secularism?
(a) 	 Religious minorities can open their own educational institutions, but 

they may get help from the state authority.
(b) 	 on opening the educational institutions of majority religion, help can 

be received from the state government.
(c) 	 In Indian secularism, the state authority does not provide support to 

educational institutions of any religion.
(d) 	 None of the above

Six Mark Questions

1. 	 Explain the main causes of the criticism of the Indian secularism.

2. 	 The emphasis of Indian secularism is not on the separation of religion 
and states, but more than that Explain this statement.

3. 	 Is secularism justified in the following things?

(i) To provide financial grant for the pilgrimage site of minority 
community?

(ii) To conduct religious rituals in government offices?
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ANSWERS
One Mark Answers
1. 	 Secularism is an ideology in which it is the duty of the government / 

state to provide equal opportunities to all without discrimination between 
different religions.

2. 	 A secular state is one which has no religion / creed of its own and does 
not pressurize its citizens to follow any religion / creed. Secular states are 
neither religious, nor establish a particular religion.

3. 	 Yes, India is a secular state. You can find its description only in the 
Preamble of the Indian Constitution. Every citizen in India has the right 
to religious freedom.

4. 	 ‘Ataturk’ means “father of Turks”.
5. 	 Mustafa Kamal Pasha changed his name to ‘Kamal Ataturk’.
6. 	 The term secular was added to the Indian Constitution by the 42nd 

Constitutional of Amendment in 1976.
7. 	 Freedom to practice, and propagate religion is given under Articles 25 to 

28 in the Indian Constitution.
8. 	 The secular state has no religion. It does not protect any particular religion 

nor does it make laws based on religion.
9. 	 Using one religious community against another community and nation is 

called communalism.
10. Communal riots are carried out by anarchist elements in India, then 

democracy of India is affected and this hinders social progress.
11. 	(d) Secular State
12. 	(d) All of the above
13. 	(c) Jawaharlal Nehru
14. 	(c) Advocates for the rights of minorities
15. 	(d) All of the above
16. 	Right to religious freedom belongs to Part Three of the Indian Constitution.
17. 	(b) All religions will be equally protected by the state.
	 (d) Jawaharlal Nehru did not follow any religion himself.
	 (c) Differed from Ataturk’s views.
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	 (b) Nehru Ji was not in favor of severing complete relation between 		
	  religion and state.

Fill in the blanks:-
18. 	Religion

19. 	Freedom

20. 	Article 25

21. 	42nd Constitutional Amendment

22. 	Philosopher

23. 	(a) False 		  (b) True 	 (c) False 	 (d) True 	 (e) True

24. 	b) 25 to 28.

25.  	a) A state which is not based on religion 

26. 	c) 42nd 

27. 	A) Both ane correct and the reason is the Correct explanation of the 
assertion. 

Two Marks Answers

1. 	 To perform duty

	 There are many cause included in religion.

2. 	 (i) The state should not inclined towards any religion.

	 (ii) Not favoring any religion.

3. 	 The right to equality in the constitution without any religious 
discrimination, All have freedom to practice as their religion, 
Equality before the law, regardless of religion.

4. 	 The state has no religion of its own.

5. 	 i) Politics of vote bank.

	 ii) An impossible project.
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6. 	 i) Ban on muslims for wearing a special cap.

	 ii) Emphasis on wearing western dress.

7. 	 i) To get to be dominated or arbitrary of a particular community  		
    within a particular religion.

	 ii) Exploitation and discrimination of women and Dalit.

8. 	 i) Seperating religion from state power (Raj Satta).

	 ii) Both do not interfere in each others matters.

	 iii) The use of the internet, wearing western clothing, consuming 	
	 McDonald’s food and drinks, the prevalence of millions such 		
	 things 	is called dominationism.

9. 	 Yes, because according to Article 29, minorities have the right to 
retain their special, script or culture. Article 31: Minorities and all 
others can get education of their interest.

Four Marks Answers

(i)	 There is religious tolerance in India which is not in Western 
countries.

ii) 	 Protection of minorities, no discrimination with diversity, not 
in the west,

2. 	 To give more importance to your religion, consider other religion to 
be inferior.

i) 	 De recognition  of discriminatory political parties.

ii) 	 Punishing the culprit officials. 

iii) 	Changes in Contractual educational materials.

iv) 	Prohibition of the news that creates discrimination. 

(v) 	Avoiding rumors and stop their spread.
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3. 	 To maintain fraternity equality among people of different language, 
caste, religion.

4. 	 (i) Secularism is considered an impossible project.

	 (ii) The politics of vote bank gets a boost.

	 (iii) Financial assistance to minorities and numbers opposing the 	
	    right to equality.

Answers to four marks questions:- (Cartoon/Picture Based)

1.1. 	 (c) Prohibition on wearing turban, wearing burqa, religious 
symbols.

1.2. 	 (b) France is the European (western) model of secularism.

1.3. 	 (c) France prohibits symbols of religion while India does not.

1.4. 	 (a) Religious minorities may open their own educational 
institutions but may get help from the state authority.

Six Marks Answer

1.	 Anit-religion, imported from the west Promoting minorityism, 
interventionist, vote  bank politics and is an impossible project..

2. 	 To instill a feeling of love, fraternity, unity in people, to preserve 
integrity, and to develop cultural and language of minority people.

3. 	 (i) Yes, it is justified, so that minorities can spread their religion, 
and respect the feelings of the economically backward.

	 (ii) No, it is against secularism because rituals of a particular religion 
in government office is against other religions.
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SAMPLE QUESTION PAPER 
POLITICAL SCIENCE (028) 

CLASS XI (2023-24)

Time allotted: 3 hours				    Maximum Marks: 80

INSTRUCTIONS:

1. 	 The question paper consists of five sections (A, B, C, D and E) 
with 30 questions in total.

2. 	 All questions are compulsory. 3. Question numbers 1-12 are 
multiple choice questions of one mark each.

4. 	 Question numbers 13-18 are of 2 marks each. Answers to these 
questions should not exceed 50-60 words each.

5. 	 Question numbers 19-23 are of 4 marks each. Answers to these 
questions should not exceed 100-120 words each.

There is an internal choice in two of the 4 marks questions

6. 	 Question numbers 24-26 are passage, cartoon and map-based 
questions. Answer accordingly.

7. 	 Question numbers 27-30 are of 6 marks each. Answers to these 
questionsshould not exceed 170-180 words.

8. 	 There is an internal choice in 6 marks questions.

SECTION-A (12 MARK)

1. 	 Which of the following is not a dimension of equality?			  1

a. 	 Political Equality
b. 	 Social Equality
c. 	 Religious Equality 
d. 	 Economic Equality
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2. 	 Who wrote “a long walk to freedom”?					     1

a. 	 Mahatma Gandhi
b. 	 Aung sang su ki 
c. 	 Nelson Mandela
d. 	 Abraham Lincoln 

3.	 Which one of the following book is written by Pluto?			   1

a. 	 The Politics 
b. 	 Republic
c. 	 On liberty
d. 	 A theory of justice

4.	 Universal declaration of human right was announced by united nations 
on_____________							       1

a. 	 9th December 1948
b. 	 0th December 1948
c. 	 11th December 1948
d. 	 12th December 1948

5. 	 Which one of the following is not required to build a nation?		  1

a. 	 Common belief
b. 	 Common religion
c. 	 Common political values
d. 	 Common land

6. 	 In the following question, a statement of Assertion (A) is followed by a 
statement of Reason (R). Choose the appropriate option:		  1

	 Assertion (A): India gives equal importance to all religion Reason (R): 
secularism of India is different from western countries.

a.	 Both the Assertion and the Reason are correct, and the Reason is 
the correct explanation of the Assertion.
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b. 	 Both the Assertion and the Reason are correct, but the Reason is 
not the correct explanation of the Assertion.

c. 	 The Assertion is incorrect, but the Reason is correct.
d. 	 The Assertion is correct, but the Reason is incorrect

7. 	 Match the following							       1

8.	 Who gives recognition to political parties?				    1

a. 	 President of India
b. 	 Prime minister
c. 	 Supreme court
d. 	 Election commission of India

9. 	 Recently which political party has given the status of national party?	 1

a. 	 Bhartiya janta party
b. 	 Indian national congress
c. 	 bahujan samaj party
d. 	 Aam aadmi party

10. 	who is the head of executive in India?					     1

a. 	 President
b. 	 Prime Minister
c. 	 Chief justice of India.
d. 	 home minister

S.No Rights Article

1 Right of Freedom 25-28
2 Right to Equality 23-24
3 Right against exploitation 19-22
4 Right to religious freedom 14-18
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11.	 Money bill can be introduced in which house?				    1
a. 	 Rajya Sabha
b. 	 Lok Sabha
c. 	 in any house
d. 	 neither in lok sabha nor in rajya sabha

12. 	who can remove judges of supreme court or high courts in India?	 1
a. President
b. Prime minister
c. parliament
d. chief justice of India.

SECTION-B

13. what do you understand by universal adult franchise?			   2

14. why amendments are being done in constitution?			   2

15. how local government strengthen democracy?				    2

16. what do you understand by secularism?					     2

17. is nationalism irrelevant in globalization era? Explain			   2

18. why citizenship of a country is required for a person?			   2

SECTION C

19. 	rights always has responsibilities. Write in support			   4
20. politics is not what our politician is doing. Explain it			   4

OR
	 Why should we study political theory at school level? Explain		  4
21. 	should we put restriction on freedom of expression? Explain in your 

own words.								        4
22. 	onstitution is not failed but we forced it to be failed. Do you agree with 

it? Explain								        4
OR

Write the process of making law in India?
23. 	it is said that our constitution is not made by representative of peoples 

therefore it is not representative. Write your supportive arguments.	 4
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SECTION-D

24.	 Article 368: Parliament may in exercise of its constituent power amend 
by way of addition, variation or repeal any provision of this Constitution 
in accordance with the procedure laid down in this article. we have al-
ready seen that the makers of our Constitution wanted to strike a balance. 
The Constitution must be amended if so required. But it must be protected 
from unnecessary and frequent changes. In other words, they wanted the 
Constitution to be ‘flexible’ and at the same time ‘rigid’. Flexible means 
open to changes and rigid means resistant to changes. A constitution that 
can be very easily changed or modified is often called flexible. In the case 
of constitutions, which are very difficult to amend, they are described as 
rigid. The Indian Constitution combines both these characteristics

(i) 	 who is authorized to amend in our constitution?			   1
a. 	 President
b. 	 Parliament
c. 	 prime minister
d. c	 hief minister of states

(ii) 	 in which article of our constitution amendment provision has been 
given									        1
a. 	 Article 370
b. 	 Article 371
c. 	 Article 368
d. 	 Article 369

(iii) 	why should we amend constitution?					    1
a. 	 Some provisions of constitution become irrelevant after some 

time.
b. 	 To make provision in our favor
c. 	 To make constitution more attractive
d. 	 None of the above



XI - Political Science 294

(iv) 	what types of our constitution has?					     1
a. 	 Rigid
b. 	 Flexible
c. 	 Both rigid and flexible
d. 	 None of the above

25. 	 In the given outline political map of India, four states have been marked 
as (1), (2), (3) and (4). Identify these states on the basis of the information 
given below and write their correct names in your answer book along with 
the respective serial numbers of the information used and the concerned 
alphabets as per the format that follows:

1. 	 state which has highest population					     1

2. 	 state in which film industry exists					     1

3. 	 state where kannad language is spoken				    1

4. 	 state which has Amravati as capital city.				    1
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S. No Number Concerned Name of the State

1

2

3

4



XI - Political Science 296

26. 	 Study the given cartoon and answer the questions that follow:

1. 	 Who is the head of council of minister?					     1
2. 	 To whom Prime minister and council of minister has accountability?	 1
3. 	 What is the importance of council of minister without prime minister?	2

SECTION E

27. 	Affirmative actions in India are filling up gaps between high class and 
lower class. Write your supportive explanation				    6

OR
	 Explain theory of justice given by John Rowels.

28. 	Concept of human rights has emerged an important part of human life 
in globalization era. Explain in detail.					     6

OR
	 How can a person attain citizenship in India? Explain all methods	 6

29. 	How definition of nationalism has changed in contemporary days? 
Write supportive arguments.							     
6

OR
	 Constitution of India is called a bag of borrowing. Do you agree with 

this statement?								        6
30. 	Criminals in Indian politics are more successful than others. Write your 

own views in details. 							       6
OR

	 Why do we require parliament in India? Write supportive facts.	 6
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Practice Question Papers (With Solutions) 2023-2024
Class 11 Subject: Political Science 

Time: 3 Hours Maximum Marks : 80

General Instructions:-
1. 	 There are five sections (A, B, C, D and E) in the question paper with a 

total of 30 questions.

2. 	 All questions are compulsory.

3. 	 Question numbers 1-12 are multiple choice questions of one mark each. 
4. Question numbers 13-18 are of 2 marks each. Answer to each question 
should not exceed 50-60 words.

5. 	 Question numbers 19-23 are of 4 marks each. Answer to these questions 
should not exceed 100-120 words each.

Two of the 4 marks questions have internal choice
6. 	 Question numbers 24-26 are passage, cartoon and map based questions. 

Answeraccordingly. 

7. 	 Question numbers 27-30 are of 6 marks each. Answer to these questions 
should not exceed 170-180 words.

8. 	 There will be an internal choice in the questions carrying 6 marks.

Section A (12 Marks)

1. 	 When was the first meeting of the Indian Constituent Assembly held?
(a) 	 7 December 1946
(b) 	 15 August 1947 (
(c) 	 9 December 1946
(d) 	 26 January 1950 

Answer:-(c) 9 December 1946

2. 	 When did the “Motilal Nehru Committee” raise the demand for a 
“Declaration of Rights”?
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(a) 	 1947 
(b) 	 1950
(c) 	 1926
(d) 	 1928 

Answer:- 1928

3. 	 Who among the following sits closest to the direct democracy? 
	 (a) Discussion held in the family meeting.
	 (b) Election of Class Monitor 
	 (c) The selection of a candidate by a political party
	 (d) Referendum conducted by the media I 

	 Answer:- (a) Discussion held in the family meeting.

Fill in the blanks:- 
4. 	 By the time the Constitution of India was being written, India had had 

some experience of operating a parliamentary system under the Act of 
1919 and

	 Answer:- 1935

5. 	 At present the Lok Sabha consists of...... constituencies. This number is 
from the 1971census.

	 Answer:- 543

6. 	 Independence of the Judiciary means that- the other two organs of the 
government........ and should not create any hindrance in the work of the 
Judiciary so that it can do justice properly.

	 Answer: Legislature and Executive 

Correct and rewrite the following statements:-

7. 	 To strengthen the Indian Union, a strong state government has been 
established by the Indian Constitution. 

	 Answer:- To strengthen the Indian Union, a strong Central Government 
has been established by the Indian Constitution.
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Examine the following statements on the basis of true and false statements :- 

8. 	 In modern times, elected bodies of local government came into 
existence after 1882.

	 Answer:- True

9. 	 Article-3 Parliament can give admission to new states in the union by 
law. 

	 Answer:- False

In the following question(10-12), Assertion (A) is followed by Reason (R). 
Select the appropriate option from the following:-

(a) 	 Assertion (A) and Reason (R) both are correct, and Reason (R) 
is the correct explanation of Assertion (A). is not the correct 
explanation

(b) 	 Both Assertion (A) and Reason (R) are correct, but Reason (R) of 
Assertion (A).

(c) 	 Assertion (A) is false, but Reason (R) is true. (d) Assertion (A) is 
correct, but Reason (R) is incorrect.

10. 	Assertion (A): The Indian Constitution refuses to be bogged down in 
any one title.

	 Reason (R): The Indian Constitution is liberal, democratic, secular, 
federalist, supportive of community values, religious and linguistic 
minorities as well as historically empowered, sensitive to the deprived 
sections.

	 Answer: (a) Assertion (A) and Reason (R) both are correct, and Reason 
(R) is the correct explanation of Assertion (A). 

11. 	Assertion (A): Nelson Mandela spent 28 years of his life in prison for 
the independence of South Africa.

	 Reason (R): Nelson Mandela wrote his autobiography in the book 
“Long Walk to Freedom”.

	 Answer: (b) Both Assertion (A) and Reason (R) are correct, but Reason 
(R) is not the correct explanation of the statement.
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12. 	Assertion (A): The concept of equality implies that all human beings are 
entitled to equal opportunities to develop their skills and talents.

	 Reason (R): Men are superior to women. This is a natural truth. 
	 Answer:- (d) Assertion (A) is correct, but Reason (R) is wrong.

Section-B (12 Marks)
13. Explain any two areas of political theory.
	 Answer:- Two areas of political theory: 
	 (i) Study of state and government. 
	 (ii) Study of power and political ideologies. 

14. 	What is meant by Rawls’s “veil of ignorance”? explain
	 Answer:- “Rawls’s Veil of Ignorance” means:- Let us imagine ourselves 

to be in a situation where we have to decide how to organize the society 
and at the same time we do not know that our role in the society is 
What will be the place, then we will take such a decision which will be 
beneficial for all.

15. 	Describe any two political rights.
	 Answer:- Political rights:- (i) Right to vote. (ii) Right to be elected.

16. 	What are the duties of a citizen towards other citizens?
	 Answer:- It is the duty of a citizen to respect the rights of other citizens. 

All citizens have an obligation to participate and contribute in everyday 
life. 

17. “Nationalism has been responsible for the decline of empires”. Explain.
	 Answer:- In the beginning of the twentieth century, nationalism was the 

fall of Austria-Hungary and Russian empires in Europe and the division 
of French, British, Dutch and Portuguese empires with them in Asia and 
Africa.

18. 	Mention two important functions of the constitution.
	 Answer:- Two important functions of the constitution;- 

(i) 	 The constitution provides such a set of rules, which creates a 
minimum coordination and trust in each other in the society.
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(ii) 	The constitution decides who will have the final decision making 
power in the society. Section-C (20 Marks)

19. 	Why do we need fundamental rights?
	 Answer;- Fundamental rights are necessary for the basic development 

of the individual, all- round development. Fundamental rights provide 
cooperation in bringing equality, freedom, fraternity, economic, socio-
cultural development in the society.

20. 	Write any four differences between ‘the one who gets the most votes 
wins’ and ‘proportional representation’ electoral system.

	 Answer:-

First Past the Post System Proportional Representation

(i) divide the country into small 
constituencies.

(i) There is only one constituency for 
the whole country.

(ii) Only one representative is 
elected from each constituency.

(ii) More than one representative is 
elected.

(iii) The voter votes for the 
candidate. (iii) The voter votes for the party.

(iv) the candidate is known to the 
voter personally.

(iv) The voter does not know the 
candidate by caste.

21. 	Describe the change in the powers of the Prime Minister in India. 
Answer:- The following changes have taken place in the powers of the 
office of the Prime Minister:- 
(i) 	 The role of the President has increased in the selection of the Prime 

Minister. 
(ii) 	There is an increased tendency to consult political allies.
(iii) 	The privileges of the Prime Minister have been curtailed.
(iv) Policies are made only after negotiation and agreement with the 

allies.
OR

	 Describe the four powers of the Lok Sabha. Answer:- Four powers of the 
Lok Sabha:- 
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(i) 	 Legislature related powers-
(ii) 	Financial powers-
(iii) 	Judicial Powers -
(iv) 	Powers relating to control over the executive - (v) Powers to amend 

the Constitution - (any four)

22. 	Why do we need Parliament? Explain with four reasons.
	 Answer; 

(i) 	 Parliament makes laws.
(ii) 	Parliament passes the budget.
(iii) Parliament controls the government.
(iv) Parliament amends the constitution.

OR
	 Describe any four functions of the Speaker of the Lok Sabha. Answer;- 

The Speaker of the Lok Sabha has the following functions- 
(i) 	 Presiding over the meetings of the Lok Sabha.
(ii) 	Allowing the Lok Sabha motion.
(iii) 	To appoint the chairpersons of select committees and other 

committees of the House.
(iv) 	Taking decision on Finance Bill.

23. 	On which issues has there been a conflict between the Parliament and the 
Judiciary in India?

	 Answer:- In the Indian Constitution, each organ of the government has a 
clear scope of work. Despite this division of work, the conflict between 
the Parliament and the Judiciary has been a feature of Indian politics, 
which are as follows:- 
(i) 	 Regarding the right to property.
(ii) 	With regard to the power of Parliament to amend the Constitution.
(iii) 	in relation to preventive detention law.
(iv) 	Regarding the law related to reservation in jobs.
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Section-D (12 Marks)

24.	 Study the following cartoon carefully and answer the questions given 
below:-

24.1	 Who appoints the Governor?
(a)	 Prime Minister
(b) 	 Deputy Prime Minister
(c) 	 President
(d) 	 vice president

	 Answer:- (c) President

24.2 	 For how many years the Governor is appointed?
(a) 	 2 years
(b) 	 4 years
(c) 	 6 years
(d) 	 5 year

	 Answer:- (d) 5 year 



XI - Political Science 304

24.3 	 Which commission recommended in its report that the appointment of 
governors should be made compulsory and fair?

	 (a) Shah commission 		  (b) Circle commission
	 (c) Sarkari commission 		 (d) Sarkariya commission

	 Answer:- (d) Sarkariya commission

24.4 	 Under which article the Governor can recommend to the President to 
impose President’s rule in the state?

	 (a) Article 356
	 (b) Article 352
	 (c) Article 358
	 (d) Article 556 

	 Answer:- (a) Article 356

25.	 Study the following passage carefully and answer the questions given 
below:-

	 Constitution is not an inert and immutable document. Constitution is 
created by human beings and hence there is always scope for amendment, 
change and reconsideration.. Constitution is a reflection of the wishes 
and aspirations of the society. Constitution is a framework for running 
the society democratically. There is also, which the society creates for 
itself.

25.1 What do you mean by constitution?

(a) Constitution is a set of rules.
(b) Constitution is a set of laws.
(c) Constitution is a set of principles.
(d) All of the above

	 Answer:- (d) All of the above

25.2	 Who was the chairman of the Indian Constitution Drafting Committee?
(a) Dr. B N Rao			  (b) Dr. BR Ambedkar 
(c) Dr. BR Verma		  (d) Dr. Rajendra Prasad
Answer:- (b) Dr. BR Ambedkar 
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25.3 What is the evidence of the vitality of the Indian Constitution?
(a) 	 It is the largest constitution in the world.
(b) 	 There is a constitution for the world’s largest democracy.
(d) 	 none of the above
(c) 	 Constitutional amendments were done according to the demand 

of time.

	 Answer:- c) Constitutional amendments were done according to the 
demand of time.

25.4 	 Constitution is made...
(a) As per the wishes of the government. 
(b) As per the wishes of the society.
(c) As per the wishes of the President 
(d) As per the wishes of the Prime Minister

Answer:- (b) As per the wishes of the society.

26. 	 Fill in the names of the four bicameral states in the outline map of India 
given below.

	 Answer:- 
	 (i) Andhra Pradesh 	 (ii) Maharashtra 
	 (iii) Uttar Pradesh 	 (iv) Karnataka 
	 (v) Telangana 		  (vi) Bihar (any four)
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Section-E (24 Marks)

27. 	 How Public Interest Litigation can help the poors ? 
	 Answer:-

(i) 	 Getting rights, preventing discriminatory treatment by the Central 
/ State Government.

(ii) 	 Non-interference of the central government while working by the 
states.

(iii)	 Central government not giving financial assistance by the state 
government, interference on non-making of development related 
plans.

OR
	 “Judiciary is the guardian of the constitution”. Do you agree with this 

statement? 
	 Answer:- 

(i)	 Protection of fundamental rights,
(ii)	 Judicial review,
(iii)	 Judicial activism,
(iv)	 important assessment of social and economic justice. Etc.

28. 	 What is meaning of Panchayati Raj system? If you were the District 
Collector, What problems would you solve in the Village ?

	 Answer:- The local government of the village is called Panchayati Raj, 
it has three levels and all three are to be explained.

OR
	 If you were the Sarpanch of your Village, what kind of hindrance would 

the society create in your work? Then how do you get rid of those 
obstacles.

	 Answer:- Students have to write problems and their solutions using 
their own thinking power

29. 	 What is the meaning of Freedom of Expression? What in your opinion 
would be appropriate restrictions on this freedom? Explain with 
example.
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	 Answer:- Freedom of expression is the freedom to express one’s 
thoughts. A person can express his/ her views by speaking, writing or 
by any means. People can remain free due to restrictions by Article 19 
of the Indian Constitution. Too many restrictions can be a hindrance to 
freedom.

OR
	 Describe the John Stuart Mill’s ‘Loss Theory’.
	 Answer:- The hole purpose of interfering individually or collectively 

with someone’s freedom to act is self-defense. The only purpose of a 
justifiable use of force against the will of a member of a civilized society 
may be to prevent harm to another. It can be banned .This is called the 
principle of harm

30. 	 Explain three principles to be implemented by the Government to 
Establish Social Justice. 

	 Answer:- Equality treatment among equals.

	 Provision of minimum necessities of life and opportunities for the 
needy.

	 Recognition of different efforts while determining benefits.

	 Special consideration of special needs.
OR

	 Explain the different dimensions of the Justice in detail.
	 Answer:- Different Dimensions of Justice :-

1. Legal Justice
2. Political Justice
3. Social Justice
4. Economic Justice (Explanation of all four)
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